16.

V17

B tpeyroasuuke ABC yron C paBen 90", BC =2, cos A= 2 Haiinnre AC.

17.

B tpeyronsnuke ABC yron C paBen 90", BC =4, tgA= % Haiinute 4B.

18.

B tpeyronsuuke ABC yron C pasen 90", BC =4, tgA=0,5. Haitnure AC.

19.

B tpeyronbunke ABC yron C pasen 90", AC =24, BC =7. Haiigure sin A.

20.

B tpeyronsuuke ABC yroa C paBen 90", AC =7, BC =24. Halinurte cos 4.

21.

B tpeyronbauke ABC yron C paBen 90°, AC =8, BC =4. Haligute tg A.

22,

B tpeyronbauke ABC yron C paBen 90", AB =8, BC =4. Haiigure sin A.

23.

B tpeyronbauke ABC yron C paBen 90°, AB =25, BC =20. Haitgute cos A.

24,

B tpeyronsuuke ABC yron C paBen 90", AB = 4/5, BC =4. Haiigure tg A.




